
 

Stie

B           b           b             B          b           b             B          b          b             B            b          b  

C

flein muss ster ben, Ist

G7

noch so jung,

C

so jung

 

Stie

B             b            b              B            b            b              B            b            b              B     b      b 

C

flein muss ster ben, Ist

G7

noch so jung,
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Wenn

C           c            c            B            b           b            B           b            b            B            b          b 

F

das der Ab

C

satz wüßt, Daß

G7

Stie flein ster

C

ben müsst,
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möcht´

B            b           b             B           b           b            B           b           b             B           b           b 

C

er sich krän ken bis

G7

in den Tod,

C

o weh!
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möcht'

B             b            b             B             b           b              B            b            b             B   Bb

C

er sich krän ken bis

G7

in den Tod.
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